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1255-0549 (35.0 - 44.0) ->  19.5 hours

PERIOD  25
533652004/12/26
533662004/12/27
533672004/12/28
533682004/12/29
533692004/12/30
533702004/12/31
533712005/01/01
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533732005/01/03
533742005/01/04
533752005/01/05
533762005/01/06
533772005/01/07
533782005/01/08
533792005/01/09
533802005/01/10
533812005/01/11
533822005/01/12
533832005/01/13
533842005/01/14
533852005/01/15
533862005/01/16
533872005/01/17
533882005/01/18
533892005/01/19
533902005/01/20
533912005/01/21
533922005/01/22
533932005/01/23
533942005/01/24

18:00 00:00 06:00

1255-0549 (35.0 - 44.0) ->  47.8 hours
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534242005/02/23
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1255-0549 (35.0 - 44.0) ->  49.0 hours

PERIOD  27
534242005/02/23
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1255-0549 (35.0 - 44.0) ->  50.0 hours
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1255-0549 (35.0 - 44.0) ->  50.2 hours

PERIOD  29
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1255-0549 (35.0 - 44.0) ->  26.8 hours
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